EMM_' 5 ">CR(A)&)5'\‘-’E}E‘I”ZSP (FEE - VI1F)

(M] B =1/189.5 FEZ =100%(ST=25) BE5E =STH /25/45/65/100 B E IR =08384&10&12
W RREA S - 72l (GL] FE3 =1/97.67 FEZ =100%(ST=10) B5% =ST& /25/45/65/100 @ E B =08384&10812

B{REAEY— 418
WEREHEE - ARIEH(
W77 RS2l
W/l
WEE--BFTS

WO HRR
<AKRAR=THE>

[MAX HHE])

[M] (12 {@ /8C- 5R)--- 438 {&
(12 {8 /8C-16R)-- - 1,403 {&

[GL] (12 {@ /8C- 5R)--- 438 {&
(12 {8 /8C-16R)-- - 1,403 {&

(SEEBET—])
<BBEREBEMEMN= 5 E>

SRR, [EAMER] 2BYEY, (FHBEM] CofHIzsCEd, Presented by TKC (HRES#H F—#0 - S0 - axdiarX)




